Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 0,01 10 0,001
8,46 0,000846 0,0846 84,6 0,00846
3,88 0,000388 0,0388 38,8 0,00388
1,68 0,000168 0,0168 16,8 0,00168
5,72 0,000572 0,0572 57,2 0,00572
6,33 0,000633 0,0633 63,3 0,00633

X 10 000 10 0,001 100
1,14 11400 11,4 0,00114 114
4,15 41 500 41,5 0,00415 415
6,6 66 000 66 0,0066 660
8,02 80 200 80,2 0,00802 802
5,86 58 600 58,6 0,00586 586

X 0,01 10 000 0,1 1000
3,26 0,0326 32 600 0,326 3260
8,73 0,0873 87 300 0,873 8730
5,39 0,0539 53900 0,539 5390
4,18 0,0418 41 800 0,418 4180
9,42 0,0942 94 200 0,942 9420

X 1000 0,01 10 10 000
8,43 8430 0,0843 84,3 84 300
3,16 3160 0,0316 31,6 31600
1,83 1830 0,0183 18,3 18 300
5,19 5190 0,0519 51,9 51900

9,9 9900 0,099 99 99 000
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